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There are 30 questions in all in this Section. All questions are compulsory.
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Who is known as the father of child
centric education ?

(A) Dewey

(B) Froebel

(C) Montessori
(D) Rousseau.

Who conducted the factor analysis of
intelligence first of all ?

(A) Thurstone

(B) Gardner

(C) Carroll

(D) Spearman.

Reading of literature is essential for
children because the child

(A) acquires knowledge

(B) develops imagination

(C) acquires difficult words

(D) builds character.

Individual differences occur among
children due to

(A) heredity only

(B) environment only

(C) growth

(D) combination of first two.

What may be the probable cause of
mistake in writing the same spelling
repeatedly ?

(A) Learning disability

(B) Low vision

(C) Tendency to commit mistake
(D) Low intelligence.

[ P.T.O.
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As a result of cooperative learning
among the learners

(A) learners become self-reliant

(B) all learners learn equally

(C) learners' motivation declines

(D) they do not feel the needs for

teachers.
Which one is correct ?
The gifted children

(A) are always calm and quiet

(B) always behave extraordinarily
(C) solve problem quickly

(D) perform any task quickly.

How can you remove anxiety from the
learners ?

(A) By never imposing punishment

(B) By granting complete freedom in
the classroom

(C) By showing no bias to anybody

(D) By advising them not to be

anxious.

The Way of teaching the learners
about environment is

(A) to get them acquainted directly
with the environment

(B) to make them aware about the
various problems of environment

(C) to teach the environment related
contents in various subjects

(D) to teach environmental science.

According to Vygotsky

(A) culture is the outcome of
education

(B) culture is the tradition of
education

(C) culture is the only determinant
of education

(D) culture is the facilitating factor

of learning.
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Effective way to know about a

student is

(A) evaluation

(B) play

(C) wvisit his home

(D) observation.

What will you do if a student is

repeatedly teased by another

classmate ?

(A) Punishment of the classmate

(B) Separate sitting arrangement

(C) Counselling of the classmate

(D) Call the guardian.

How can teacher identify brilliant

students ?

(A) On their examination result

(B) Observing their classroom
behaviour

(C) Getting family history

(D) Based on the relationship with
other students.

What is the best way for a teacher to

maintain discipline in the classroom ?

(A) To assign group tasks

(B) To lecture about the need of
discipline
(C) To lodge complaint with the

headmaster
(D) To impose strict punishment.
Cause of failure of students is
(A)
(B)

(©)

lack of memorization power
not to strive for assimilation
absence of frequent tests

(D) not to follow the teacher.

[ P.T.O.
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Mathematics learning of children

depends on

(A) maturation

(B) intellectual ability

(C) interest

(D) development of spatial
reasoning.

Which one of the following is not

related to creativity ?

(A) To think quickly

(B) .- To perceive relation between
impossible things

(C) Work hard continuously

(D) To solve problem in a novel way.

How can one understand the extent
of student’s learning readiness ?

(A) Spontaneous interest

(B) Correct answer to the teacher's
question

(C). Requesting teacher to dictate
notes

(D) Completion of home task
regularly.

In examination copy most of the
students have committed error in
answering a question. What may be
the probable cause ?

(A) They did not pay attention in the
classroom

(B) They did not study it at home

(C) The language of the question
was not proper

(D) The teacher did not say that it

' was important.
Sometimes  the first generation

learners may be inattentive in the
class, because

(A) there is none to help at home

(B) has to perform many household .
work

(C) there is lack of effort in studies

(D) difficulty in understanding the

teacher's language.
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Modern education system is

(A) curriculum centric

(B) child centric

(C) bookish

(D) teacher centric.

What is meant by concept ?
(A) Specific knowledge

(B) Judgement

(C) Picture

(D) Imagination.

In which stage of life development
does child start to speak ?

(A)
(B)
(C)

Infancy

Late childhood
Adolescence

(D) Early childhood.

The first socialization of a child is
facilitated by

(A)
(B)
(©)
(D)
Concept formation depends on
(A)
(B)
(©)
(D)

What is the duty of teacher in
generating motivation among the
learners ?

language
isolation
observation

independence.

learning
transfer
vision

imagination.

(A) To advise the learners from time
to time

(B) To rebuke occasionally for
mistakes

(C) To accept the level of success as
one can attain

(D) To maintain very high standard.

[P.T.O.
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How can the interest of the learners

be maintained ?

(A) To deliver good lectures

(B) To cite good examples from the
text-books

(C) To cite examples from the
learners' familiar environment

(D) To check studies everyday.

The knowledge of learners’ emotion is

essential for teacher. One of its

reasons is, teacher can

(A) remove anxiety of the learners

(B) control anger of the learners

(C) keep the learners quiet by
threats of examination

(D) stop amusing behaviour.

Which one of the Acts is not related to

inclusive education ?

(A) Right to Education

(B) Prevention of Child Labour

(C) Prevention of Corporal
Punishment

(D) Custody of the Special Need
Children.

What is the meaning of

comprehensive evaluation ?

(A) Evaluation of = the whole
curriculum

(B) Evaluation of all-round
dévelopment

(C) Evaluation of the whole
intellectual ability :

(D) Evaluation of all students
simultaneously.
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SECTION - 1I
Language - English
There are 30 questions in all in this Section.
All questions are compulsory.
Part - A

Direction : Read the following passage and answer the questions ( 31/61 — 38/68 ) that
follow :

First introduced in 1927, The Hardy Boys Mystery Stories are a series of books
about the adventures of brothers Frank and Joe Hardy, teenaged detectives who solve
one baffling mystery after another. The Hardy Boys were so popular among young boys
that in 1930 a similar series was created for girls featuring a sixteen year old detective
Nancy Drew. The cover of volume of The Hardy Boys states that the author of the series
is Franklin W. Dixon; the Nancy Drew mystery stories are supposedly written by
Carolene Keene. Over the years, though, many fans of both the series have been
surprised to find out that Franklin W. Dixon and Carolene Keene are not real people.
Who then wrote these books ?

The books were written through a process called ghost writing. A ghost writer
writes a book according to a specific formula. While they are paid for writing, their
authorship is not acknowledged and their names do not appear on the published
books.

The initial idea for both The Hardy Boys and the Nancy Drew series Wwas
developed by Edward Stratemeyer, who owned a publishing company that specialized
in children's books. Stratemeyer noticed increasing popularity of mysteries among
adults and surmised that children would enjoy reading mysteries about younger
detectives with whom they could identify themselves. He first developed each book with
an outline describing plot and setting. Once that is completed he hired a ghost writer to
convert it into a book slightly over 200 pages. Once Stratemeyer approved the book, it
went to the print.

Both the series ran for so many years and that is why, both of them had a number
of different ghost writers. However the first writer for each series proved to be the most
influential. He was a Canadian journalist by the name of Leslie McFarlane. A few years
later Mildred A. Wirt, a young writer from Iowa, began writing the Nancy Drew books.
Although they were using prepared outlines both developed character themselves. Wirt
had been a star college athlete and gave Nancy a similar. ability. McFarlane used
elements of his small Canadian town to create Bayport, the Hardy Boys' fictional
hometown. Although both the books were popular with children, not everyone
approved of them. Critics thought the plots were unrealistic. Many teachers and
librarians objected to the ghost-writing process, claiming it was designed to produce
books quickly rather than create quality literature. Some libraries — including the New
York Public Library — even refused to include the books in their children's collection.
Ironically this decision actually triggered the sales of the books.

Regardless of the controversies about their literary merit, each series of books has
exerted an undeniable influence on American and even global culture.

988335 6001 P10,
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A ghost writef is someone who
(A)  writes about ghosts and strange events
(B) does not receive credit as an author
[‘C} invokes spirits and supernatural elements to write
(D)  takes lot of money for writing.
What does the word 'surmised’' mean ?
(A) Guessed . (B) Questioned
(C) Knew (D)  Surprised.
The Hardy Boys and Nancy Drew series were created on the idea that

(A) mystery books for adults are popular

- (B) children enjoy reading about characters they can relate to

(C)  girls and boys are not interested in the same thing

(D)  the writer needed money,

Some teachers and librarians objected to the ghost writing series because they
(A) disapproved of mystery stories

(B) thought that the books were too expensive

(C) believed that the books were not quality literature

(D)  disliked the business practice behind the series.
Which of the following describes the author's attitude towards the series ?
(A) Balanced and respectful (B) Doubtful and critical

(C)  Hostile but forgiving (D) Overwhelmingly appreciative.
According to the passage the Nancy Drew mystery series was introduced in
(A) 1927 (B) 1925

(C) 1929 (D) 1930.

Which would be the appropriate title of the passage ?

(A)  Ghost Writing : A Way of Life

(B)  The Dubious Yet Profitable Practice of Ghost Writing

(C) The Hardy Boys and Nancy Drew : A Ghost Writing Series

(D) A Critique of Ghost Writing.
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38/68. - Who was the real writer of the series according to the passage ?
(A) Carolene Keene (B) Franklin W. Dixon
(C) Leslie McFarlane (D) Hardy.

Direction : Read the following poem and answer the questions (39/69 — 45 /75) that follow :
Futility
Move him into the sun —
Gently its touch awoke him once,
At home, whispering of fields unsown.
Always it awoke him, even in France.
Until this morning and this snow.
If anything might rouse him now
The kind old sun will know.
Think how it wakes the seeds —
Woke. once, the clays of a cold star.
Are limbs so dear-achieved, are sides
Full-nerved, — still warm, — too hard to stir ?
Was it for this the clay grew tall ?
— Or what made fatuous sunbeams toil
To break earth's sleep at all ?
39/69. The meaning of the line "Woke. once, the clays of a cold star" is

(A) broke the cold star into pieces

(B) brought life into the cold planet now called earth

(C) made the clays of the planet

(D) made a cold star warm.

40/70. If anything is capable of awakening "him" it is
(A) the warmth of the sun (B) the sun alone knows
(C) the daylight (D) the morning snow.
41/71. The poet "urges to move him into the sun " because
(A) it is warm (B) it woke him once earlier
(C) it is day-time (D) it will ease his pain.
42 /72. The sun "always" woke him in
(A) England (B) India
(C) [Italy (D) France.

988335 6001 [ P.T.O,



43/73.

44/74.

45/75.

Direction :

46/76.

47/77.

48/78.

49/79.

988335
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"Was it for this the day grew tall" — is an example of

(A) metaphor . (B) metonymy

(C) chiasmus (D)  alliteration.

"... what made fatuous sunbeams toil ..." is an example of

(A)  synecdoche (B)  periphrasis

(C)  personification (D) shﬁile.

The general tone of the poem can be described as

(A) sad and tragic (B) full of mirth

(C)  satirical (D)  humorous,
Part - B

Answer the following questions by selecting one option :

‘Overlearning' is the term used to describe

(A)
(B)

(C)
(D)

(A)
(C)

practice that continues after a perfect recall has been achieved

the practice of learning over and beyond the requirement of a particular
class / age

the practice of spending too much time on studies

the practice of overburdening the students with tasks.

Tasks to improve spelling should not include

reading (B) listening

writing (D) use of dictionary.

Giving dictation is not useful for

(A)
(B)
(&)
(D)

learning the correct form of the language
developing language skills
developing short term memory

helping students to spell correctly.

How can language comprehension and proficiency be evaluated ?

(A)

(B)
(C)
(D)

By evaluating all the four skills in different periods of time throughout the
course

By evaluating all the four skills at the end of the course
By evaluating only reading and writing
By evaluating only speaking and listening.

6001



50/80.

51/81.

52/82.

53/83.

54/84.

55/85.

988335
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What is the main challenge of teaching language in a diverse.classroom ?
(A) Facing slow and weak learners
(B) Facing a mixed-ability group of learners
(C) Facing infrastructural problems

(D) Facing the good students in the class.

While using problem solving method the teacher should
(A) participate actively in the process

(B) ehcourage divergent thinking

(C) ask the students to consult their parents

(D) look at the students' activities from a distance.

Effective learning takes place when the students are

(A)  quiet ~ (B) obedient

(C) interactive (D) - preparing for examinations.
A teacher éan best develop communicative skills with the students by
(A) encouraging to speak in that language continuously

(B) giving dictation

(C) correcting grammar and spellings

(D) giving students homeworks in that language. |

While communicating ideas in written form grammar has

(A) akeyrole (B) norole

(C) liberal role (D) none of these.

Key principle of language teaching is

(A) to motivate the students in the process of learning

(B) to facilitate the learner-centered classroom activities

(C) to maintain discipline in the class

(D) to show the teacher's mastery over language.

[ P.T.O.
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56/86. In a language-teaching class the primary skill(s) to be developed in children is/

are
(A) Listening ' (B) Speaking
(C) Listening and Speaking (D)  Writing.

57/87. A multi-lingual classroom is
(A)  students with different mother tongues
(B) students coming from different regions
(C) students with different cultures
(D) students with different social backgrounds.
58/88. Gender stereotypes can be discouraged by
(A)  helping the boys to accept failure
(B) encouraging girls to take up sports
(C) asking girls to arraﬁge for the snacks in a class picnic
(D) encouraging girls to take up challenging jobs in life.
59/89. Abstract intelligence tests
(A) verbal skills.
(B) manual dexterity
(C)  numerical ability
(D) manipulation of symbols.
60/90. Today emphasis should be given to
| (A) electronic gadgeté used for teaching-learning process
(B) chalk-and-talk method of teaching-learning process
(C) learning through foreign collaboration

(D) value based teaching-learning process.

988335 6001
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faumr - n
Section - II
Language - Hindi
7o fawm § Fa 309 § 1wt WA sifard € o
There are 30 questions in all in this Section. All questions are compulsory.
Part - A

e : ﬁmﬁ@ﬁmwmaﬂwmﬁqmuﬁnwm 31/619 36/66TF ) &
I & foe ged sfea fawey 9T .

o = el i H qE | wE,
T TR H S 3 W R |
e STErae TR WM A g,
376 IEAIA 9 3 @ E |
FHegl | S T IS4 ® T,
iy | fagtet 984 ® 9 |
o| TR T § IS A g
TS R 9T G 3 W@ E
31/61. Hfa @il 1 @ S T § 2
(a) iR S A g qh
(B) difeh el § oo o W ST 3 Wifd F 9% W A 9 §h
(©) g% & T ® Wi
(D) T% Hfa &1 AFA & |
32/62. ' G FETEA TR I A g’ —
Hfed | H-T1 TSR § ?

(A) v B ST
(C) &9 (D) g9 |
33/63. Hiaa F1 IugE WHH B FHl ¢ |
() wd . (B) hiamed
(C) 3T (D)  mf

988335 | 6001 [ P.T.O.
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34/64. el g H H@H %1 Fr e & 2

(A)
(©)

®)
(&)

A)
(B)

g 9T B (B)  uftgt €

FG BT (D) feamgE &
85/65. &fa @i 1 Fel &l wA 3m ?

it § (B) Iad MEUE H

<& g4 o whan & (D) 9a9 & & W |
36/66. ®fa forw @ & =afal % wEifud st @ § 2

S srafyes G ¥

S wgd afigdt ¥

it Sfie T FIR Arfawarei ¥ Jmew ¥

(@)
(D)

S TR Y FaEAl Y g = €

freTferfa e i Yge 6% SuR W faw ¢ we ( 9e Wen 37/67 9 45,75 7% )
& IW & foe wag 3fem fase 9fe .

forroen &1 9% wem aga I € R fomar & fam s @ X @i 7€ 1 39 9@ ) |99
A ¥ R sTorEEsR & forg diet aga nefes e woEEE f — 9R 99
Al 8 AfEE SR T S 1 A 8 SR 9 9% qwd @ 4 Ses & | 9 9
fafeaa & f6 St oo weferyde Sftam wdia w0 wea € 3wF fag 9w v e §
e st ot @ ok fowd o 30 % o @er @ o & | q@n w9 e
O @ =T o 9% "gd w9 and S ¥, o9 g eneyl | 9% 9gd A9 & ok saw
STHIATE THHT A | Fel 9t g € | S8 g9 oW H A v A 6 9w oaw a2
&1 WA R, BI2 R TR A ¥ Froerl F1 FAER F, A 99 cq-wagte F fow
Sawgsh € | 9% W/ OWER, S F0 7 € o 5 $9 wuw ¥ — wuw weR, T e,
TR FH, TR W1, AR SR AR H S, ER A A o1, S N o we gt
T i STTIRA e A § o T YA S F A9 T AT | THA ¥ B S0
Wﬁ?ﬁ%mwm@ﬁm%m%ﬁaﬁmmmaﬂtw
T ARG B S ®, e w0 agd % wHa ot i e € SR o usd W | e
a1 Foig =Y w2 Twa | A w5 oA 3EF W A Ty ¥ ¥, 39 9% 9% R 9
ST | Fe A 9§ S TAE g § W feafa ¥ st oot U oy Frpert &

37/67. '‘TE9s' @ A@fy-fa=e &

988335

A)
(C)

T + AETF (B) TWH + 9v9H
T + EYTF (D)  WH + HAEEF |
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38/68. '’ wig ® Suw w1 HiHA-w faey wWEl ¥ ?
@A) Y+ 1A (B)
(C) W + T (D)
39/69. W& TR H1 UG WHE 8
(A) g (B)
(C) 3me-waR R = (D)
40/70. 979 F41 Sfted =i w1 9w € 2
(A) SARTHIES (B)
(C) WA o
41/71. Ic9-9AE & fog smavas @

A + fvmm

Afw + 3 |

fogan i @7
fomgan =1 58 |

Fvgergod
faenfaargel |

(&) AT Y TS H GEHE HE A SR R SR @l § HIHIgEE SFaER Al

B) YA W H @Al

() fawan =1 sgaER wE

(D) STY ST w9 W@ |
42/72. FHEHR F U sravas ¥

(A) FTH-TIiR (B)

(C) wHfEsE (D)
43/73. T TR | T HT A &0 B S ¥ 2

(A) = (B)

(C) Hwed (D)
44/74. ' AH-FEHR' H TIHR G9E ©

@) FHHYRE (B)

(C) dgey (D)
45/75. ‘T’ wg F fawiad® s ®

() (B)

(€ HrehTemel (D)

988335
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Part - B
o ﬁtﬂ“ﬁf@ﬂﬂ%ﬁﬁ:mmﬁwﬁw—gﬁq:

46/76. UF g #i Wmmﬁmﬁﬁf‘ﬂ:mmwmuﬂummaﬁq ?
(A)  TITEE F (B) €M=Y drer=et #

(C) v=MYLE | (D) ¥¥ 9B F |

47/77. TRt HEN H YgeTel TET SRR T A v o SR Mo iy @ e & | B9 ° oy =
F41 7

A& 38 '3 T I F o Fo T F forw |

(B) S A e F o - e ¥ g w

(C) e ‘' ot vl W g 2N

(D) m‘g'mmﬁﬁmmﬂMWawmmﬁﬁWﬁaﬁwmmwﬁl
48/78. “mmaﬁ@mm% "

?;HW@[:%!TQ
(A) gvid: geHa € , (B) 3ivE: §eHd &
(C) focgpa dewa &l & (D) weda ¥ ot ok =T oft |

49/79. WAfTF TR R ‘GIA-Ae’ B F fawm § - fafuat sifus germs § 2
(A) FEH-FY HAR gaorE
(B) <Hfadr-urs ik sren-wanmemen
© vfFF-frafe ( da-=t ) iR gHER-a=m
(D) Yfae-frafe i et &@r |
50/80. I=A H WIHI-YaTE q1 Afeheh Wit i Yedaiwa FT1 3 I9qF &
() fofaa whard B) wifEsw amfery
(O =af s | D) ¥H ¥ HIE 7T |

988385 . . | 6001
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51/81. e SR ' qeiF e uiEen & for gr s @ BT 39 56 1 fof w § R
¥ @il oy fawan o @ & W el ?

(A) HFEH F B) =HF
(C) TeHH (D) saﬁ@ceﬁéqm
592/82. WHATHF WR T S e F wafgE yonedt €
(A) TETgE Fone (B) WA FoTE
(C) e et ot (D) ST FRTeA gome |
53/83. &1 § $9 w1 Tord ad=l F1 FAN K gy ferwd € | 3% gURA & fae smy Fn F:40 2
A T T TS i e T o e s (i’ w3 Wt & i
B) e # g9-39 AR Hel i § fora & for e
(C) =i I IR A F1 SEEH FAN
(D) Waﬁmﬁﬂﬁmmwﬁﬁaﬂwmwﬁﬁn
54/84.%%@3@%%@#%1’1%%,maﬂ%wfﬁﬂaﬁgﬁﬁ%mwaﬁﬁ?
W A A e T T T
(B) ==l % W &) GETRt IAY STAH FA H FeN
(€) == B FE-FE TS FH R A FE
(D) = || |
55/85. =il @ Afmd U fFd FEd € ?
o) f vedl w1 31 I I §
®) o veei | o= ofifea €
() fo vl 1 WA = WA €
D) o =i ot a1 o= W ¥ o WM ¥

988335 6001 PREN
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56/86. T | W@ ¥ a1 aTen g TRady

A wamﬁqﬁ%r?fﬂ (B) 9o ygfaa d gfiads
(C) =afFama Ironefi o ufady (D) 9 A% T

57/87. TF HHEE Fen § $H-T1 FHuq T & fagidl & wfiga & 2

58/88.

59/89.

) = S Frw e @ s W fe v S

(B) ﬁﬁmﬁwwﬁmmﬁaw—ﬂn%ﬁmwm%
(C) rw 9fEw & wee sfsfa &t s @

(D) ﬁz—mmaﬁalwﬁt@%ﬁmﬁm%|

e # feu mu o an siva @ 2

@) T3 syt woheumell # wwer # werm o #

B) ol | wugws stads a9t &

(C) o=t ure &t iy =g &

[D). HrSagETS H o 33 & yuen

Freafeafian & & < = frem e w4 wedtifea @ w6 & 2
(A) =erras (B) e
() ez . (D) U |

60/90. 7 ¥ | Fa1 STaRIcw wran-fneror ¥ ww wen 59 & 2

988335

() Fe § fae w5 % S eargdE 1 g
(B) HF 1 WSIGHF B JaEYY aih @ e

(€) e F1 ve WA e T swwfeE w1
(D) %78 | |t |

6001



27
faywm - 1o
YTHT - STt
Section - II
Language - Nepali
g fayrT S 30 =1 e B | W yeeEel S fod e v |

There are 30 questions in all in this Section. All questions are compulsory.
Part - A '

A Frefafad meame w3 S (31/61 - 40/70 ) TEEEH Wel ST SR

TN TS A R YR e EE s s | e e S gere
el ffem QTR S geemsy el Sie Teg TR i faed | e s Sfee
fegren oy T, e Medd | W iede TeefierE e 991 T]iY — 9§ 5
i T 2 T e e S | T Tl we-e, o, e, W T
s g2 Ul | S Al @9 | eﬂ?—aﬁm,wa@ﬁﬁqma‘ﬁm | THIeE
A gy R faeneffewa Wt TR e g3 T A o e 9w @
‘e B8A’ — o Tt TRI TR o @ |

Wﬁ%‘hﬂﬁmﬁa@?ﬁﬁtﬁ%muﬁﬁwwﬁﬁﬁ:m@qwaﬁaﬂfm

FRO gEA A ARTg WS | SferdreTen S TR IRAAeEers He e

SEEAT STEIEH YE W 9 SR S qae Al @Rl STRie o W
31/61. ‘Afdw' FE W= & ?

(A) E B  fordro

(C) H&H (D) dAger g |
32/62. ‘farne’ F7 wfgw g B ?

(a) s af B) & afy

() franct wfu (D) e B |

988335 . [ P.T.O.
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33/63. ‘@’ =S ‘' T THT 8 ?

@) dfsa (B)

(C)° forarHe (D)
34/64. UG TRV GBS YHw FA & ?

(A) @M SIS - e ' (B)

(&) WWW~W (D)
35/65. ‘faenefl’ wegm F7-F7 R Fofat A © ?

(A) 3+ 3 (B)

(C) 31+ 3 (D)
ste.'mﬂn'w‘a'@?mmn@g ?

@A) w3 B)

C) & (D)
37/67. T fFA WA ggEE i 8 2

(A) T HTSRE BATY WU

B) T AR S e 79 S aferd quEe

(@ TR e i TeEr o

(D) HdiE FHUe Sa gowa |

988335 | 6001
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38/68. Afaw afsden TaHmR 31 g
(A) smemfors wifed
(C) TEae &
39/69. 'gg1" FE U= 7 ?
@) =

(C) fwan faggm

29

(B) #Hfaw wifsw
(D) = vt |
(B) favmm

(D) &3 |

40/70. ‘37 Mede fEw M — TEA A TG A FA Hwd A w2

(A) FHal

(C) AU

(B) EXgI

(D)  aAfysmTor |

B. fr=fefen qaiw gz fifws (41/71 - 45/75 ) YeTees! Gel ST SFRA @ -

‘TRl | | afa W | st wifa S g Taefueman afR aE @en g 8t ufeuts

e Saren afe |

41/71. '<EAA" FE TR T ?

(&) TEH

(C) =
42/72. ' FT AR ?

() ITH TEW

(C) 4 9ey
43/73. ‘TasAfyem’ — @t ef F @ ?

@) T T

©) el wgfa

988335

B) TgYd
(D) 999 |-

(B) HAW q&Y

(D) T gEY |

(B) =ﬁFﬁ FTRTSET
(D) T IEE |

6001 [ P.T.O.
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44/74. ' 39’ FE v w1 ?

(A) ATHART (B)
() Sug : (D)

45/75. ‘gEFd’ — @ 3714 &F 7 ?

(A) T AT (B)
(©) @rmeR e (D)
Part - B

46/76. NYfF dSTHIA ﬁmeﬁm
@A) A fawrem e T8 (B)
(©) wargo fasrm e T (D)
47/77. 'Psychology’ &% F W9 ¥ & ?
(A) wEre (B)
C) %= (D)
48/78. fasm = w8 F B ?
() =it fawm (B)
() wHfEeh fawm (D)
49/79. eieeA fagras faaes &1 g1 ?
@) T (B)
(C) Tefsit (D)

988335 6001
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qag |

STEErHT SRR S
AT Feheh! AT |

difgs fawmam e 78

Awfres 70 fos™ WES |

A gogstye fowm

oS Saqmen! o |

T qrhee

fawx fafea |
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50/80. ‘384" YFTHEH TEIREF H T ?
(A) SrREAfT gyH B) &R fHe
(C) TSHARIY YHH (D) Eﬁﬁﬁﬂ@ﬁ%l
51/81. Wifed FICH! TEFR U6 7T qfeal YR Toeft Fifecrsi 1 g1 ?
@ Rragar (B) FHEIG T

C) % g<™ (D) urEEr gy |

52/82. ‘gorae uf~er’ wEH 9EA HART 8 2

(A) gEE (B) ARHET
©) g (D) forp |
53/83. 'HAIfagE’ & & ?
(W) SR T faa (B) =R g e
(C) emifere fagm (D)  SHEAETE fawe |

54/84. "We must procure the best teachers for our children whatever it may cost.”

Il FHS WE & ?
@) sy B) TS
[©) =¥ swfa= (D) =F 9 |

55/85. farg *f<a e wads =+t g1 ?
@A ™ B) &
€ wowtE D) fgEsE= |

988335 6001 ' [ PE O
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56/86. ‘Sfarer faen wieea’ Fusw! ufes=rs! S99 € ?

@A) =g (B) TSI
(C) THTRE (D) AR |
57/87. forearent &= TTora, Tlﬁg'qﬂﬁﬁ’ aﬁiﬁi‘wﬂﬁﬁm#@ ?
(A) nﬁﬂa&n (B) agﬁa@gm
(C) (D) favawnf= |
58/88. TISTH TYH! TSATeTeAZ Y& HCH WiHg Hifefas sm=rera a1 & 7 ?
(A) TEHTH SR (B) AW A=
(C) FRIeTE e (D) TESRAERE A=A |
59/89. ‘g% T digl’ FHue @ F faurh! Hfd € ?
(A) wEERE gragr fafad o agre
B) e Fgarepn fafad wfam age
(C) srmfds kg fafad avesea
(D) arEFw gugr fofad Guese |
60/90. Fr=fefad e witsragrr fofes sv=m & 2
@) s oa s (B) el Y@

(C) FEH WD | (D) Y A |

988335 6001
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QU6 - II
el - &l

Section - II
Language - Oriya
QAR JQICEa NG g6 QR | dNg g999aa aaa 62l ARQIdY |

There are 30 questions in all in this Section. All questions are compulsory.
(31/61-37/67) @F @RGIS QI0ORA ARy 6RGEIE AaQ MIIQ A0& QA G :

“UQE IR, QA1E, QSN dRa 10! |
gR 9l 794 AIR 6d | CRITEE @6a 9! |
QIQ 69 ARIH QEN-919-3e,
cRI9l QI gg, a8l 2 @ | @R ase aAde |
A6 §9d AAQ F6A FIQER 9860,
218 ¢ @f@1 A0IaR 68 aIRe ¢1eR-ag |
@é@[‘ 7 60901, F19Q A9 | @ fAIrd 62Q |
AIRQ 68 a7e AIQ1 AGe €18 699 |
2108 a6eP cA0ReIa AGQ 25a a6,
Q60 o671 @01a@ a8 2Q0qQ °Q I”
31/61. @QQl 6616A1 @ ? |
a)  9QYIda1 B) Q8
(C) 43Il fIal (D) Qgen |
32/62. Q9 Q'8 gém ?
(A)  6QQ0I (B) AIQAQ

(C) QRArd 629 (D) 2QOIQ |
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33/63.

34/64.

35/65.

36/66.

37/67.

088335
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661860 §AQl Q0 @'6 AR ?

A) @oda del ) (B) €9 Qgl@

© g cdleuen D) 98 g |

dQY ARl QI GRR1 RLRQ @6 61§ Q18] ?

A) M (B) Q19

C) A (D) <Ql

e 91~ ¢5A9 aa aQ ?

(A) @4l Feaas (B) Q6aENQ J6a86

(C) Q6O86Q Q6686 (D) - QEHIRIOR F6EI8E |

Ay 6RQ €@ ?

A) 6910 @e«aaﬁ (B) BQI9@ 688y

(C) Q19919a Jeeey (D) 9gQI9R 6a8 |
,

70 @18Q @107 A AIAAIa MIQAGH gaIEEa Q&0 6QIRR -

(A) QI 994 QIQIen

(B) Y@l 2904 @G QEAINIRO FIQIEN

(C) 994 994 G AL

D) SR & AREA 79 9199 6291Q QIQIEN 28 |

6001
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(38/68 - 44/74 ) Q00 AFERAE AQ F9)60 G2 ARYRI 066GRA A0& QAQS G :

- AL

‘99 €299 GG AR ASIGe EAe @IER Ve ARIR 6Rel ZIeaYe | ¢Jled coIdy dcas
Q8GR 99 €29, VAR QOIRISICA 6RITY daQ 2] | FIQE. YQI (IR G R PRI AREY
Hd 6 AcRaQd RIRANT | FEIAIY, AIAIFINGR CIARAR §A6! B PR J6d8 QR SR |
@g 00 @196 6ReR QWP 9PI6A B0YC A FQLR. V19R CALR TR A CEPA 2IgRl, 69
ge1e, 9961 6 @10 091 ARLe, A6q 49 YR 991 QALAIT ARARIR 68 a8 @ QY I”

38/68. ‘@9’ 40 604 AR QL0 6QIa8 ?

A) Q19 (B) Q¢

C) Q8 (D) QQENg |
39/69. 88 6RI6T 66TV FBAER ARIRISI 6aISE AR 9’8 QY ?

(A) S0eR ARENR QY _(B) ¥UQQIQ QY

(C) Q680 QU (D) USRS QY |
40/70. Y0I6Q ‘QQ’ 69Q 2g Q'@ ?

A) 0%cad | | (B) Qe

€) €9 (D) Qe |
41/71. QRBIPQ PR V6 @ﬁ?

(A)  AAIRQ AQF6Q YQIQ 29QIR QA Al

B) dIQ0e @0Q 9& QY

€) &R ggaa @qo Qv

(D) QCPRQ FARE Q4R AT A QY |
42/72. QIQQRR LAY Y6 YUew ?

A) Q90 (B)  <°GNQ

(C]. QR (D) @684 |

88335
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43/73. NR6RHQENQ 2 -

(A) 69 Y9 604 2de Qa3 B) 69 Y9I Y9I 0de Q68
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sifene @ el
Section - III(a)
Mathematics & Science
a3 e @it 60 6 o =z | @ s dERdl @3 Tl vaw FEEs I AT 9 T wre 3@ |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

(x + 3)(x - 3)-@ x-&a9 HIS PO ?

A) 1

(B) 2

(cy, O

0} =i

x2 - 8x +15 AL @Q‘?ﬂlﬁi@ﬁl G|
(A)  (x-3S)(x+3)

B) (x-8)(x+7)

(€) (x-5)(x-3)

(D) (x—-8)(x-7).

a’b® L a’b? A a’p®-@g @iAe. 32¢°
E b-Eaq NI 2

(A) 32
(B) 24
(C) 6
(D) 2.

i A e o b0 i

AR, (a+ b) RET AA1R. @

(8) (a®+b?)

(B) (a? -ab+b?)
(C) (a? +2ab +b?)
(D) (a? +ab +b?).
199-99 9 27

(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091.

91,

92,

93.

24.

935.

6001

The coefficient of x in the expression
(x+3)(x~3)is

(A) 1
(B) 2
(€ 0
(D) -1.

The factors of x2 — 8x + 15 is
(A)  (x-5)(x+3)

B) (x-8)(x+7)

(€) (x-5)x-3)

D) (x-8)(x-7).

If the L.C.M. of a2b3, a3b2, a4b5 is
32a? | the value of b will be

(A) 32
(B) 24
(C) 6
(D) 2.

The product of two terms is g + b
and H.C.F. of the two terms is (a + b).

So L.C.M. will be

(A)* (a®+b?)

(B) (a®-ab+b?)
(C) (a?+2ab +b?)
(D) (a2 +ab+b?).
The cube of 199 is
(A) 7880599

(B) 9703011

(C) 7680951

(D) 6879091.

[ P.T.O.



96.

97.

98.

99,

100.

101.

4,7, 12-a3 59 A 27

(A) 28

(B) 21

(C) 14

(D) 35.

50-99 x % = x99 y % 2E y-a9F WG
e

(A) 25

(B) 50

(C) 75

(D) 100.

3x2 —2yz +5z° @% INNEL BeTHLI
2o

W4

(B) 3

(© 6

(D) 5.

55 kg ot 25 kg 731 @ SRR O
P Ol 8 A AN S ?

(A) 11:5

(B) S5:6

(C) 6:5

(D) 5:11.

Gt (TY FPNE A-99 Y4 B-a9
W fagd | A-aq e 428 Il
T, B-a9 Tef R

(A) 214 Ol
(B) 556 OI<l
(C) 107 Bl
(D) 856 Bl |

@36 “fegred oA @ T 73°, 97°,
146° @3¢ 138° | 2L (D A=

(A) 113°
(B) 104°
(C) 86°
(D) 83°.

J o

96.

97.

98.

99.

100.

101.

988335
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The fourth proportionate of 4, 7 and
12 is
(A)
(B)
(C) 14

(D) 35.

If x % of 50 = y % of x, the value of
y will be

(A) 25

(B) 50

(C] 75

(D) 100.

The number of variables

28
21

in the

expression 3x? - 2yz + 522 is

(A) 4
(B) 3
(C) 6
& 5.

If 25 kg of zinc and the rest amount of
copper are present in 55 kg of brass,
what will be the ratio of copper and
zinc there ?

E2 I o
B] 5:6
B 6:95
(D) 5:11.

The principal amount of A is twice of
B in a joint business. If the profit of A
is Rs. 428, then the profit of B will be

(A) Rs. 214
(B) Rs. 556
(C) Rs. 107
(D) Rs. 856.

Four angles of a pentagon are 73°,
97°, 146° and 138°. The value of the
fifth angle will be

(A) 113°
(B) 104°
(C) 86°
(D) 83°.



102. ANSfd®F ABCD © ABEF-@3d CFa%e

103.

104.

ALY N @R O Sl YT
h € p [

(A) h>p
(B) h<p
(€) h=p
(D) (RIS 7¥ |
owe 5@ AB||CD 21, /BGE-99 W9
26
F
¢ H/ - D
X
90° + x(y
A /G B
E

(A) 45°
(B) 120°
[Cy . 135°
(D) 270°.

W@wmq@%awwm%f@g@
A 31 M 2

(A) 95°, 45°, 50°
' (B) 95° 45°, 40°
(C) 65°, 85°, 50°
(D) 65°, 55°, 25°.

105.

988335

Q3% LA A 32 (@191 @ 5 M@ @9
FAET (@ TR SANS AW O 37 I«
(A 16 N =0T, A 2@

(A) 83
(B) -44
(C) ~83
D) 12.

59

102. The areas of the parallelograms ABCD

103.

104.

and ABEF are equal. If their heights
be h & p respectively, then

(A) h>p
(B) h<p
(C) h=p
(D) . none of these.

In the figure below, AB| | CD, then the
value of #BGE is

A / = B
E
(A) 45°
(B) 120°
(C) 135°
(D) 270°.

With which of the following angles, a
triangle can be formed ? '

(A) 95°, 45°, 50°
(B) 95°, 45°, 40°
" (C) 65°, 85°, 50°
(D) 65°, 55°, 25°

6001

105. When 32 is added to a number and

then multiplied by 5, the product
becomes 16 less than the original
number. The number is

(A) 83
(B) -44
() '~83
(D) 12.

[ P.T.O.



106. COINTE IO Y5 x 999 3@ 5 494

W @ 5 B 2T THETH S 21

(A)
(B)
(C)
(D)

(5=x):(5+x)

(x-95):(x+95)

(10+ x): x

(x+35):(x-5).

107. (2x +1)% = 4x? + 4x + 1. @ft asfb

(A)
(B)
(©)

(D)

AP
RISk
EEBIEEE]

RPIAIBE 77 |

108. R 8 FAETA ST 19 : 20 26,
ol Ffod QA 25

(A)
(B)
©)
(D)

109. @36 RAME 20% I I 33

10%
7:5%
5%
2:5%.

Y 90 | e ¥@ ?

(A)
(B)
(©)
(D)

60
70
75
80.

110. (p+g)=8 R

T 241
A) 7
(B) 14
) 21
(D) 28,
988335

(p-q)=6RCF1 pg-4ad

60

6001

106. If your présent age is x, then the

107.

108.

109.

110.

ratio of your ages S years before and

S years after the present is

(A)
(B)
(C)
(D)

(95— x):(5+ x)
(x—95):(x+95)
(10+x): x

(x+95):(x-9).

(2x +1)% = 4x2 + 4x + 1. This is an

(A)
(B)
(©)
(D)

equation
identity
inequation

none of these.

If the ratio of sale price and purchase

price is 19 : 20, the percentage of

loss is

(A)
(B)
(©)
(D)

10%
7:5%
5%
2:5%.

If a number is increased by 20%, it

becomes 90. The number is

(A)
(B)
(C)
(D)

60
70
(s
80.

If (p+q)=8 and (p - q)=6, then the

value of pg will be

(A)
(B)
(€)
(D)

7
14
21
28.



131,

112,

113.

114.

115.

988335

0.63 -aq aIe 2o

" =
® 2
© &
o 5

A @ B-a9 JCTE 1% 10 924, B 8 C-99
JUEIA 1T 15 429 @98 A 8 C-99 O
% 20 I A, B8 C-99 JWEHE G
TG ?
(A)
(B)
(C)
(D)

12:5 9%d
17-5 929
15 929

20 TR9 |

129649 55 &
(A)
(B)
(©)
(D)
6:8, 32, 27, x 942 82-94 9IG 5 (A
x99 I 5@ |

(A) 4

(B) 51

(C) 41

(D) 39

3 b @fiee syiea o1 w3

3]

EEb|
(C) AR @ (1 Qfo

(D) (FHE 77 |

(A)
(B)

61

111,

112,

113.

114

115.

6001

The fraction of 0 63 is

63
(A} e
100
100 .
(B) 63
7
(1b ks
s Rt
11
D) —.
Bl G
The average age of A and B is

10 years and of B and C is 15 years
and of A and C is 20 years. What is
the average age of A, Band C?

(A) 12:'5 years

(B) 17:5 years

(C) 15 years

(D) 20 years.

The square root of 1296 is
(A) 24

(B) 26

(C) 36

(D) 44.

. The 'average of - 6:8, 32, 27, x and
8:2 is 5. So the value of x is
(A) 4
(B) 51
(C) 41
(D) 39

The average of three consecutive

whole numbers is always

(A) even

(B) odd

(C) any of these
(D) none of these.

[ P.T.O.



116. @36 5OGweE 1o SN I Ao
90° (Il TEIfE® F9ET O Fogens
= =¥
(A) efeeq

*B) EEfae
(C) =
(D) EFrfeiferam
117. @i a9 q=Ed edfol S@eien W

165° 21, IQ9EIbA AN 2o
(A) 12
(B) 24
(C) 6
(D) 8.
118. Wfaare  fags AABC-93 AW @9

ZA =70° Z(E NHA (@ 700 1 2

(A) AB> BC
(B) AB< AC
) AT > BC
(D) AC < BC.

119. @36 @ snfear  fagrr, @l
PRI NN 25° JE, FeIeerd 9

(A) 755°
(B) 110°
(C) 130°
(D) 155°.

120. ABC fagwew ABd wafey D, «@<g
DE||BC. BC =7 cm %1 DE-&9 W

=7
A

14 cm
7 cm
3:5'cm

1'4 cm.

(A)
(B)
(€)
(D)

988335
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116.

117.

118.

119.

120.

If the two diagonals of a quadrilateral
are unequal and bisect each other at
right angle, then the quadrilateral is
said to be

(A) square

(B) parallelogram
(C) rhombus :
(D) trapezium.

If each interior angle of a regular
polygon is 165°, then the number of
sides of the polygon is

(A) 12
(B) 24
(© 6
(D) 8.

The vertical angle £A of an isosceles
triangle ABC is 70°. Which of the
following relations is correct ?

(A) AB> BC
(B) AB< AC
(C) AC>BC
(D) AC< BC.
An acute angle of an obtuse angled

isosceles triangle is 25°. So the value

‘of obtuse angle is

(A) 755°
(B) . 110°
(C) 130°
(D) 155°.

In AABC, D is the mid-point of AB,
DE| | BC. If BC = 7 cm, then the value

of DE is
A

D E
B C
(A) 14 cm
(B) 7 cm
) 3Scm
(D) 1-4 cm.
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121. rﬂ% M e g o7 ﬂmaf;lf% LG 121. When repulsion occurs between two
: substances then those two
(A) TerR pEe substances are
(B) BrEes smigl (A) both magnets
) @z bES @ ol whiEs oy 5 (B) both magnetic substances
(D) @b @ W 9ol e | (C) one is the magnet and the other
2 : is non-magnetic substance
122. 0EE 4R (w9 bl (D) one is magnet and the other is
Siveqa 9= 33 magnetic substance.
(A) IS 122. The electrode which is connected to
: the positive pole of the battery is
(B) PR . called
(C) SNE=TS (A) cathode
(D) STHIEA | (B) cation
123. IR *1ff afye u S o zo1 {9 miiorle
A ? (D) anion.
123. Casparian strip is made up of
B) Geeer
(B) (A) Chitin
(©) s (B) Cellulose
(D) eafs=i (C) Pectin
124. RsfeReafrm emft e Sfgw 77 7 (D) Suberin.
(A) =@ 124. Which of the following is not a green
plant ?
B) ™AIRQ151831
(B) (A) Lotus
Q) TN _ (B) Spirogyra
FIl | (C} Agaricus
125. 8Cwifaelbes (vlme @ gl swre (D) Fern.
A &1 I 16 2= 125.In an eukaryotic cell, the organelle
A) @@ePiDe responsible for aerobic respiration is
| (A) Chloroplastid
(B) WRGIefEI
(B) Mitochondria
(C) swifer 3fe ,
(C) Golgi body
(D) RO | (D) Lysosome.

988335 6001 [ P.T.O.




126.

127.

128.

129.

130.

13E

(A) ‘BB SF AETED

(C) ‘NFBIR W FIRUIRE

(D) ‘R T EAFIRE |

Frsa @S ofve AR 2

(A) ST I

(B) @wHIZL

(C) A (R

(D) WG

@He R (@Y ¢ SfPeeddRy M
Seifaafee e AAfaEits Tevd oI
(A) eAEE@R e

(B) SRIZNR T AT
(C) SRTENIEE AT FAHATT
(D) RARA@R 07 FAANSF |
a3 FEe @ SfoepEre 391 24

(A) 1-08 volt
(B) 1:5 volt
(C) 1-05 volt
(D) 1:8 volt.

it Twery G Il oS TTOCH
(@ el o7 @ @ I @ 2
(A)  QrysEd bies gfad ST

(B) QAINSANR b1of 2 2SHL PIACT
(C) TF©l Z1T AISNT &l

(D) Twel Jfad & |

qeewEd o A 2w 2
a) faferefe

‘(B) e

(©) e

(D) canferefer |

(B)

988335
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126. Acharya Prafulla Chandra Roy is

known as

(A) 'Master of Sulphates’
(B) 'Master of Nitrates'
(C) 'Master of Nitrites'
(D) 'Master of Sulphides'.

_Which one of the following is the non-

conductor of electricity ?
(A) Gas carbon

(B) Ebonite
(C) Human body
(D) Soil.

128. For a definite resistance and for the

definite time of flow of current, the
heat produced in a conductor is
proportional to

(A)
(B)

the flow of current

the cube root of the flow of
current
(C) the square root of the flow of
current

(D) the square of the flow of current.

. The emf of a dry cell is

(A) 1-08 volt

(B) 1:5volt
(C) 1-05 volt
(D) 1-8 volt.

. Why does an ink-filled fountain pen

leak at a high altitude ?
(A)
(B) Atmospheric pressure decreases
()
(D)

Atmospheric pressure incrhes

Temperature decreases
Height increases.
important  for blood
clotting is

(A) bilirubin

(B) prothrombin

(©)

(D)

albumin

globulin:



132.

133.

134.

135.

136.

137.

138.

988335
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TNBRGECREIET

(B) «fgcris

(C) &E@PTIRG

(D) CRAATCHIAIZG | :
Aenes @b (@7 236w 910 26
(A)  COICEIGEE

(B) &ATSEN

(C) Al

(D) SITCEIEH |

PN R TE WS .
AP AW I |

(A) ©F ferw

(B) QN et

(C) =AM (SEIAIA

(D) feTE|

AP RIS I 2o

(A) B0

(B) @NCEICS

(C) &I

(D) iAo |

fsfeeefm @b craem s 93 2
(A) e

(B) I

(C) =¥

(D) &FIZT|

(I N AN FL@a = 2o7

A) ety
(B) SRS
(C) NCICET™
(D)  CERICNITCSTI |

ALY A ? -
(A) S GrEreTy Sifer

(B) o&ifer afS
(C) RIS
(D) ©ipes |

132.

133.

134.

135.

136.

137.

138.

6001

The cell responsible for immunity is

(A) lymphocyte
(B) erythrocyte
(C) thrombocyte
(D) hepatocyte.

The name of a female reproductive
hormone is

(A) testosterone

(B) progesterone

(C) gastrin

(D) adrenaline.

The pulmonary venous blood enters
e s chamber of the heart.

(A) right auricle

(B) left auricle

(C) sinus venosus

(D) ventricle.

The name of the emergency hormone
is

(A) thyroxine
(B) estrogen
(C) glucagon
(D) adrenaline.

Which of the following is not a
component of phloem ? -

(A) Sieve tube

(B) Companion cell

(C) Fibre

(D) Sclereid.

The site of protein synthesis in a
cell is

(A) Dictyosome

(B) Ribosome

(C) Mesosome

(D) Chromosome.

Which of the following organelle has
many ribosomes attached to it ?

(A): Rough endoplasmic reticulum

(B) Golgi body
(C) Lysosome
(D) Vacuole.

[ P.T.O.



139. (¥ 4a@d AINe W P @A g

140.

141,

142.

143.

144,

ol &5

(a) PP

(B) Tebd

(C) =

(D) S|

¥ ~fdq 2TNora e (el I8 o &5
(A) eifacra

(B) Eie=

) Fefaa

(D) emfbezeifie |

@ *miefo arfe-ge aim wfefzs 2
A) 2w

(B) =1

(©) Fes

(D) IS |

IEMa SoAmHe 2

(A) FIE, SBIREE M@ @ag SN
AT

(B) TR, TR ¢ fAu1e

(C) <, AT € ARG

(D) eTeE, NSy JIBE0 @dR
SBIR FTEACED |

ARG GEA BEIR ame 2

(A) OFF FRWCEH

(B) ©HE RIR(YIEH

(C) TR TZAHRT

(D) o<e e

A foow Fag el 49 o=

(A) MRS
(B) UIehd
(C) e (@

(D) @ (St B |

988335
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139.

140.

141.

142.

The type of animals showing
cutaneous respiration is

(A) reptiles

(B) amphibians

(C) birds

(D) mammals.

The phylum of animals showing
presence of mesoglea is

(A) porifera

(B) ctenophora

(C) cnidaria

(D) platyhelminthes.

Which substance is known as
'bucky-ball' ?

(A) Diamond

(B) Gold

(C) Fullerene

(D) Graphite.

What are the components of Gun
powder ?

(A) Carbon, potassium nitrate and
potassium sulphate

(B) Carbon, sulphur and bismuth

(C) Carbon, sulphur and nitre

(D) Sulphur, sodium nitrate and

potassium sulphate.

143. The substance used in rocket fuel is

144.

(A) liquid nitrogen

(B) liquid hydrogen

(C) carbon dioxide

(D) liquid helium.

The concept of stationary orbit in an
atom was proposed by

(A) Rutherford

(B) Dalton

(C) * Neils Bohr

(D) J.dJ. Thomson.



145, Sfde7-20 warerg THIZE 5 145. An example of a solution made of
| solid in solid is
(A) <FIPN

; (A) fog
i i (B) smoke
€ @& (C) bronze
(D) <y ' (D) air.

S ISP W Sl i Jand 146. Which one of the following animal

s 2 body phyla has segmented body ?
(A) T " (A) Mollusca

(B) QIREATCG! (B) Echinodermata

(C) «meifirey (C) Aschelminthes

(D) wiIffere | (D) Annelida.

147. afeResfe @ wrende Caf#igr 147, Which of the following is not a

mammalian character ?

Y 2 B
inna

8) P (B) Mammary gland

(B) ey (C) Three chambered heart

(C) f@eicerye guia (D) Hairs.

W) 148. Which one of the following does not
148. FsfaResfer @Hbre wfefe o _ have accessory respiratory organ ?

WT’T% ? (A) Anabus sp

(A) 3 Ny (B) Clarius sp

(B) Wed Ny (C) Labeo sp

(C) =3 N ? : (D) Heteropneustes Sp.

s b e
149, Fsfere @ oifta s =1 Biftr 2 A el

() Q]FE (B) Earthworm

((S; g Q)" Paramioesiim

(D) IS | _ 150. ’(I‘[l?l)e o‘igla?f ?‘géponsiblc for secretion of
150. frest wracera o Wi oG e bile is

(A) TP (A) liver

B) 9@ (B) kidney

(C) ey (C) pancreas

(D) %) (D) stomach.
88335 6001 [ P.T.O.
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faete - 111 (b)

ST QW
Section - III (b)
SOCIAL STUDIES
a3 e (G 60 o4 | ﬂﬂ%ﬂﬁtaiﬁﬂﬁmw@mﬁwmwmﬁm |

There are 60 questions in all in this Section. The candidates who have selected this subject
must answer all the questions.

91. ©RTEA AMUE AACIT T 27 91. The maritime boundary of India is’
(A) X Afbwrer M=E (A) 12 nautical miles
(B) o AR W2 (B) 13 nautical miles
(C) Se HE MR (C) 15 nautical miles
(D) (@HIZ FF | (D) none of these.
92. JRFGIIF AWEH 2 92. Black soil is suitable for
(A) 1T BIES & (A) cotton cultivation
(B) EFT &R RER (B) rice cultivation
(C) o™ BITAS &) g € wheat cultivation
(D) =X I & | (D) sugarcane cultivation.
93, wRed gH a¥h | 93. Indiais a
(A) IETAE 98 , (A) Developing country
(B) TH© 98 (B) Developed country
(C) RBE % ©HO I8 (C) Least Developed country
(D) IR 7 | : (D) none of these.
04, MwEreH AT GF T 04. Result of greenhouse effect is
(A) ST [C L c o) (A)  inversion of temperature
(B) Ty SmmEw (B) global warming
() Tt qae (C) industrial pollution
(D) =W | (D) flood.

988335 6001




95. @ o IF

(A)  «GhfGE
(B) am@ifiGre
(C) wmfRTfaGR
(D) Frnare |

96. ﬁhﬂ@”mﬁiﬁﬁﬁﬁ

97.

(A) AW T TR A
(B) M W& @ W
(C) T

(D) ™= (BT 77 |
VAT R R

(A) wﬁaﬁmﬁﬁﬁﬁ

(B) «la wrsifiers

(C) == fFmsifere

(D) fewmrzm Sweifers |

98. WIRFF-aq =y =

(A) 2T 16

(B) 230 rvea

(C) 24 &7

(D) o™ CGITHs
988335
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95.

96.

97.

98.

6001

Temperature is measured by
(A) thermometer

(B) barometer

(C) anemometer

(D) scfismograph.

Frontier Gandhi was

(A) Khan Abdul Gaffar Khan

(B) Khan Abdul Wali Khan

(C) Shaista Khan

(D) none of them.

Gorge-is formed in

(A) upper course of a river

(B) middle course of a river

(C) lower course of a river

(D) mountain stage of a glacier.
Date of spring equinox is

(A) 21st March

(B) 22nd December

(C) 21stJune

(D) 23rd September.

[ P.T.O.



99. ﬂr‘zﬁ’l‘{ TG (A AT T

(A) T
(B) CoRoj@
(©) e
(D) G |
100. SCHRETR SHIRRe 24
(A) TS (B)
(C) e
101. TEfmEm @ fREew
A) feR
B) 3R
(C) wAfRw
(D) CFHHIR 7T |
102, cols SEferam FETe BHNG XN

(D) &0 |

(A) Swoo
(B) Svos s
(C) Swox &
(D) svoo A |
103. 75 ICE (97 MEARET
A) A fefeam fewfee
(B) (3. PRI G
(C) cer fereTsy

(D) TR (PO T |

988335
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99.

100.

101.

102.

Heaviest rainfall in the world
received by

(A) Bangladesh

(B) Cherrapunji

(C) Shillong

(D) Mousinram.

Example of Igneous Rock is

(A) basalt (B) sandstone
(C) marble (D) slate.
William Carey was a

(A) Missionary

(B) Poet

(C) .Linguist

(D) none of these.

is

Fort William College was established

in

(A) 1800 A.D.
(B) 1801 A.D.
(C) 1802 A.D.

(D) 1803 A.D.

103. The Young Bengal was led by

6001

(A) Henry Vivian Derozio
(B) Rev. Krishnamohan Banerjea
(C) James Prinsep

(D) none of them.



104, S*I5% =TS ot

(A) TEIF
(B) baweR)
(C) (A) @3¢ (B) Teng
(D) C(PHGIR 57 |
105. &N I APFRRE  WAEE  we
iR ¢
(A) e
(B) sieraren
(C) =aren

(D) (A) @32 (C) ¥&F |

106. REEF-7e T4 ACTTIET S QEIfRE
o 3t

(A) BEBS T
(B) zHqgw
(C) Sy wsred
(D) GO 77 |
107. e REw avew
(A) SRR oo
(B) TP *rfo
(€) vf orlba
(D) @amw !

71

104. Womesh Chandra Bonnerjee was a
(A) Moderate
(B) Extremist
(C) Both (A) and (B)

(D) none of these.

105. Gandhiji called for the establishment

of

(A) Ramrajya
(B) Ganarajya
(C) Swarajya

(D) both (A) and (C).

106. Hiuen-tsang visited India during the

reign of

(A) Chandragupta Maurya
(B) Harshavardhan

(C) Nagabhatta II

(D) None of them.

107. Suleiman was a/an

(A) Arab Traveller
(B) French Traveller
(C) Chinese Traveller

(D) None of these.

188335
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108.

109.

110.

Rl

112.

(A) e IR

(B) fadm spmei

(C) T

(D) AT T 7 |

(A) MR 3T

(B) 4 S

() =t Ry

(D) C(FHOR JF |

e () cafi el ¢ifb 221
{8 T

(B) e

(C) E

(D) CPWBIR 7Y | :
729l SO TTHNE Aol 2
(A) [N ATl

B) feA el

(C) N Fore

(D) CFMOR Y |

qERE REW

A) 3fd

(B) wrfwe

(C) (A) @38 (B) &

(D) CPWOR ¥ |

988335
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108.

109.

110.

111.

112.

6001

Muhammad Ghori defeated
(A) Prithviraj Chauhan
(B) Pulakeshin II

(C) Harshavardhan

(D) None of them.

Igta was a system of

(A) Land grants

(B) Religious endowment
(C) Loan

(D) None of these.
Khudkasht was a category of
(A) peasants

(B) kings

(C) nobles

(D) none of these.

The Harappan Civilization

contemporary of

(A) . Sumerian Civilization
(B) Egyptian Civilization
(C) Greek Civilization

(D) None of these.
Yajnavalka was a

(A) Saint (Rishi)

(B) Philosopher

(C) Both (A) and (B)

(D) None of these.

was



113. RS e P
(A) @2 Iy
(B) G qe7)3
(C) =¥® My
(D) FWGIZ J7 |
114, SETFENEIT SIS ST P
(A) b>USH T =IE
(B) 4=NTWE MpICET
(C) SNEAEGIR *oFzerce
(D) CFINGIR 53 |
115, Rems (Rres)) 3 23
(A)  *F QI AETEISIER W
(B) SITAIF R SETRIGIE I S
(C) R pim @ae WT@W@W RICH

(D) 9MF @C 79 |

116. v, W59 STRCSF Y |
(A) @ (B) =
© (D) w1
117. T2 (@51 B3 Sig
- (A TERE
(B) *if5warG e
(C) ey wiqre

(D) TP STy |
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113,

114,

115.

116.

137

6001

Bimbisara belonged to the
(A) Gupta Dynasty

(B) Maurya Dynasty

(C) Haryanka Dynasty
(D) None of these.

Alexander invaded India during the

reign of

(A) Chandragupta Maurya
(B) Dhanananda

(C) Agrammes

(D) None of these.

The Battle of Jhelum was fought
between

(A) Porus .and. Alexander

(B) Ashoka and Alexander
(C) Bindusara and Alexander
(D) None of them.

River of South India is

(A) Brahmaputra

(B) Ganga

(C) Jamuna

(D) Krishna.

Royal Bengal Tigers are found in
(A) Sundarban

(B) Western Ghats

(C) Himalayas -

(D) Garumara forest.

[ P.T.O.



118. FR7 Tweifea 1 Fre

(A) FENE

(B) SRCHA

(C) &

(D) R 4 e w1 |
119, (PO T .............~ % HTEGEPS & |

(A) CTRETTEH (B) it

© i D) HTS |
120. ANTER FY@ CISE e I

(A) CEGAASF WETGH STBE

(B) FWAIA BT

(C) “fFoaae TN TBE

(D) #fEwEE e AHET |
121, Y SO TF 2

(A) ARG (B) G

(C) ZRCAGR (D) ARG |
122, R wHEE IR 2=

(A) CeTEETIRCH (B) e

(C) =ifaee™ D) &% e |
123. 5{fa @i Ao @ / THH =

(a) e (B) el

(C). == (D), SR\
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118.

119.

120.

121,

122.

123.

6001

Main work of a river in its upper

course is

(A) erosion

(B) deposition

(C) transportation

(D) formation of meander.

Polder is the reclaimed lands of
(A) Netherlands (B) Germany
(C) Austria (D) Scotland.

Rich deposits of minerals are found in

(A) Chota Nagpur plateau

(B) Sundarban region

(C) Plains of West Bengal

(D) Mountain region of West Bengal.

Atmospheric pressure is measured
by

(A) Barometer

(B) Thermometer

(C) Hygrometer

(D) Anemometer.

Rainfall of equatorial region is
(A) relief

(B) frontal

(C) convectional

(D) drizzle.

Longest river in the world is
(A) Mississippi

(B) Nile

(C) Ganga

(D) Brahmaputra.



124, 52qe 2@
(A)  EwEs
(B) BT
(C) waerfy s
(D) % @ |
125, WV3A1 @ F917 ZI0oe! ze
(A)  FwRre S
(B) e
(C) cowem
(D) CFHLIR F7 |
126. 0 1 semione fame 2
(A) @ *p g@E
(B) 3w
(C) fisz
(D) =fS |
127, IRVRER

=

(A)

(B) IF¥ =1

(C) =W s

(D) = &Awe |
128. #13°Tg e g p—

(A) RemE Wifhoe

(B) Fuyfewr

(C) e wifbes

(D) CPIEAGIR 77 |
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124,

1285.

126.

127:

128.

6001

Great circle means

(A) Equator

(B) Tropic of Canccrl

(C) Tropic of Capricorn
(D) Pole.

Dadra and Nagar Haveli is a
(A)  Union Territory

(B) State

(C) District

(D) none of these.
Jaldapara is famous for

(A) one horned Rhinoceros
(B) Tiger

(C) Lion

(D) Elephant.

Cause of air pollution is

(A) smoke

(B) cleaning utensils

(C) bathing

(D) use of fertilizer.
Mangrove forest is found in
(A) Saline soil

(B) Black soil

(C) Podzol

(D) None of these.

[ P.T.O.
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129. voo NG T fws 271 129. Landform which is 600 metres high,
(A} \‘zﬁ 18
(A) Plateau
(B) N
(B) Plain
(C) *RG .
(C) - Hill
o gl (D) Mountain.
130. G efqe A 25 130. Earthquake prone region is
(A) ©eE : (A) Japan
B) Sfn (B) Australia
(C) South Africa
(C) - wfwe i
(D) Germany.
(D) S |

_ 131. Effect of revolution of earth is
131, *ffafa sifaewe oo = -

(A) change of seasons

SR ey (B) occurrence of days and nights
(B) f-afa SR (C) occurrence of flood
(C) T AHER (D) occurrence of earthquake.
(D) GhEia &MéR | . 132. The first humans came from
132. ejersima;caa G 27 ... IRACET | (A) Africa
a) wfews B) Asia
B) afm il (C) North America
€) Seq ARSI (D) none of these. .
(D) CEWBRE A | 133. The Tropic of Cancer passes through

(A) Krishnanagar
133.@%@@@@?{%%@%@ :
: (B) Bankura

&

{a) TR (B) e
(C) TS . (D) C*WEE T |

(C) Birbhum

(D) none of these.
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134.

135.

136.

137.

138.

988335

f2areT v e sifomreT w1 zo
(A) ©rer oo
(B) i oo
(C) wrafafy
(D) MR orfs |
G AP o1 FTeT

shao A

(BB 7 |

(A) s»ax A (B)

(C) ssae (D)
IAE SR 2o

(A) T
ot
ST
(FOIR 77 |

O ™ I qEEem e
R 2
LEEE

R

(B)
(C)

(D)

(A)
(B)
(C) ez
(D) 4t @ 7 |

SICR]-1-5TTH S0 (FIAT A IR 7
e

(B) S&RG

A=

HGI2 77 |

(A)

(C)

(D)

134.

135.

136.

137,

138.

6001

The Himalayas belong to the category
of

(A) Fold Mountains

(B) Bleck Mountains

(C) Volcanic Mountains
(D) Residual Mountains.

Project Tiger was started in

(A) 1972AD. (B) 1973 AD.

(C) 1975AD. (D) none of these.

Babur was born in

(A) Fergana

(B) Delhi

(C) Ajmer

(D) none of these.

Captain Hawkins visited the court of

(A) Jahangir
(B) Akbar
(C) Shahjahan

(D) None of them.

Vasco-da-Gama came to India and

landed at

(A) Khozikode

(B) Gﬁjarat

(C) Patna

(D) none of these.

[ P.T.O.



139. TrREAREET TaNw T 2

(A) sasa e (B) sazo

(C) savo Al (D) sa8o A |

140. oy oihE = oM =F

(A) svdo e
(B) sve8 s
(C) sSwvse
(D) FFOR 7 |

141. G 2o/ g A1 R
(A) - J=ud
AT

s

(B)
(C)
(D) Et@ T 7 |

142, (oW e feregfd (rfe@ Ao sifafee ¢
(A) * 2o FHed
B) fadw reed e
€ TEed
(D)

143. =ity e sifafe @ qren fofv zeEm

G (8 749 |

(A) oo FEeY

(B) fad¥ rred Rewime
(C) e

(D) ¢TFR (T 7 |
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139.

Farrukhsiyar’s firman was issued in

(A) 1717 AD. (B) 1720 AD.

(C) 1730 A.D. (D) 1740 A.D.

140. The Second Charter Act was passed

141.

142,

143.

6001

in
(A) 1813 A.D.

(B) 1814 A.D.

(C) 1815A.D.

(D) none of these.

The last king of the Maurya Dynasty
was
(A) Brihadratha
(B) Kalashoka
(C) Udayin
(D) None of them.

Who was called Lichchhavi dauhitra ?

(A) Chandragupta I

(B) Chandragupta II Vikramaditya

(C) Samudragupta

(D) None of them.

Sakari was the title earned by

(A) Chandraguptal

(B) Chandragupta Il Vikramaditya

(C) Samudragupta

(D) None of them.



144.WM§WW

(A) IS
(B) CMeof@ sirezeet
(C) i spErdl

(D) «TR &FE 77 |

145. a8 s sifere e

(A) PURE G
(B) g
(C) faoly et

(D) M FC 7 |

146. Free India Centre ﬂfﬂé mﬁzﬁ
(A) e
(B) @it
(C) CbIfPere
(D) GG |

147. Indian
FRMRER
(A)  wPifeRrd @3

Independence

(B) “Torav¥
(C) =B e g
(D) «€07a T + |

988335
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144. The Aihole Prasasti was composed by

145.

(A) Ravikirti

(B) Gautamiputra Satakarni
(C) Vasisthaputra Pulamayi
(D) None of them.
Pulakeshin II defeated

(A) Chandragupta Maurya
(B) Harshavardhan

(C) Nagabhatta II

(D) Noné of them.

146. The Free India Centre was set up in

(A) Berlin
(B) London
(C) Tokyo
(D) Rome.

147. The Indian Independence League was

set up by

(A) Rashbehari Basu

(B) Subhas Chandra Bose

6001

(C) Captain Mohan Singh
(D) none of them.

[ P.T.O.



148. Direct Action-«ﬂ% A1 =W
(A) e
(B) GACHS
(C) MICE
(D) CFWHR Y |

149. C.R. Formula-9 &% (F
(A) BEAE! ABICIHAEBRT
(B) foesg=s
(C) FRwIY IR

' (D) @R T 7 |

150. "SINE G AIET -G DI 2
(A) SIS ASICNAEADIAN
(B) foeags ar
(C) AewY oA

(D) E™A (T 7 |

988335
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150.
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Direct Action was initiated in

(A) Calcutta

(B) Bombay

(C) Madras

(D) none of these.

C.R. Formula was forwarded by

(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindranath Tagore

(D) none of them.

Amar Sonar Bangla was composed by
(A) Chakravarthi Rajagopalachari
(B) Chittaranjan Das

(C) Rabindrana'th Tagore

(D) none of them.
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SPACE FOR ROUGH WORK
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fRtf / INSTRUCTIONS

( ¥FHRPICH G @ “FH %+ / Read carefully and comply )

hay @%v%¥ / IMPORTANT

2

o]

9

&

o

£

o

355 L

12.
13.

14.

#Fmdta carorret AR Farg vy ANWA Sta et «16 (o FwTfa wenw) wiefenebae fwon oo

At the time of verification of candidature the candidate should submit his/her Admit Card (including candidate's
ortion) to the Invigilator.
S0 8 b S WIE — e, $eAd, TR, end. ofem, Aewd, (oie @3t B oo o 30 B et unm i oWl dm

WAASE S e T R 30 B oo @a o gl e fadn e e 30 B e, o 6o b avaw $aw fre 2w

In Section-II, there are 8 languages — Bengali, English, Hindi, Nepali, Oriya, Santhali, Telegu and Urdu. Each language is
having 30 questions. The candidate has to answer 60 questions in all, taking one as First Language having 30 questions and
the other as Second Language having 30 questions as per his/her application _form.

R b [T ReE — @19 11i(a) - 5116 @ @M @t @i [1(b) - el | sitere i 60 B o @m 1 Sdrwd wR-
oG A (@1 @3fs AR 53 T | ~ :
Section-lII is divided into two sections — Section [ll{a) - Mathematics & Science and Section IlI(b) — Social Studies. Each section

is having 60 questions. The candidate has to chgose any gne of the sections as per his/her Application Form.
ﬂi?‘ﬂ'ﬁ mm%&om@wm%ﬁ%w ﬂvﬁma?%mméW|
The candidate must ensure that the Question Booklet No. has been filled correctly at the prescribed place in the OMR Answer Sheet.

ftmefe TR o X OMR TEZ9IaT G | (U0® 8, 136 14 €74 SHOTHRR S 1, 3992 4-9 9w Brefe o o | afv woff eme
it P05 @3t TP ST AP FTel A 0T A T ORC1 OMR SRR F 33 v wriba wifirg o e Sorw a6 |
Read all the instructions carefully and fill the details in S1. Nos. 1 to 8, 13 & 14 in the OMR Answer Sheet and 8l. Nos. 1,3 & 4
in the Question Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the
consequences arising during scanning of your OMR Answer Sheet.

o fafi@ 26 OMR Tao@ A Bl

OMR Answer Sheet No. should be written in the space provided in the Question Booklet.

opoRIPT AT 84 o1 @2 150 1 ort wICg) smoffeRe e fee onewe % AW e W el e o e d
s erofeRera 150 5 ept @32 oI 3 (¥TF 80 W R T |

The Question Booklet comprises c{:ages having 150 questions. After being instructed to open the Booklet then only the candidate will
open the Question Booklet at the in icateggace. Check whether the Booklet contains 150 questions starting from Page No. 3 to 80.
Faafel 298 AEAEHT | ATTEH AT GG TEAE (0@ W T 1| G TGEN T (A0S WiFL FAl &L Al

All questions are of MCQ (Multiple Choice Question| type. There is only one correct answer to each question carrying one
mark. There will be no negative marking for wrong answers.

(B AT (I TS _51§ AT, PRI WA ZCOH Al [ S HATSRIA (I 0N 1 R0 A1 Rreior-1 @3t [l ili(a)
@48 111(b) AT @ LGN NATTH TN WITR | (I AT ST SATAGH) AP AN SRR pers ¢ 441 8 |

In any event of any factual mistake in any question/s, candidates will not be penalized. However no corrections will be made in
question/s during the examination, Section-1 and Section Ili{a) and ll(b) are printed in Bengali and English versions. In case of
any factual discrepancy the English Version will prevail. ’

(P PTG P P0G JE 2 Y & @ 06 &7 | oIl ernofR (4re foutea 71| (oM afefre e ¢rew 2w Al
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off
from the Question Booklet. No additional paper shall rovided. ; .
15l ,W.Ww,mmﬁm.mm.%ﬁmmﬂwwm@ﬁﬁmwmmmmzﬁm
PR IR FAE AAHAE TS T AN P A

Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary or any other electronic item/instrument etc. is not
allowed. Their use will result in disqualiﬁcation of the candidate.

o T WMl F@ OMR SEd9@ (el 24 |
OMR Answer Sheet will be provided separately along with the Question Booklet.
o fi emeff @9t OMR SERoR (I fof emnffvl @at OMR Twasitan fifid e Reiafn o et | ensoffvel et smees fiey e
721 g | faend wmeebh e e fary erwsifaer® gaee sysioffigel CuieTIa o oFwd IR DR F@ A (@ effEe (@ o W
o1 (& /ef1 ZXA /R AT arie e | e epasifen coim @b wice, et wewie oift 2fefebace e oifaaed 373 (A |
After i and OMR Answer Sheet are issued to the candidate, the candidate must fill in all the entries in the Question Booklet and OMR
Answer Sheet, The Question Booklet is sealed by a reverse jacket. The candidate has to tear open the jacket at the indicated place in order to open the
Question Booklet. After opening the Question Booklet the candidate should ensure that any page{queslion is not missing / not printed / torn /
repeated. In case you find any defect anywhere in the Question Booklet, immediately inform the [nvigilator and get it replaced by him. .
rdwt AR AP A2, (P (IS, epaeifye] e e, cafe, forw, oo oran, fadty o, wee feww, ardrer iy @ve o o
A1 oMR Teeias 8 W oFT F9EF)
Candidate should write Roll No., Centre Code, Question Booklet Serial No., Category, Gender, Language-l, Language-Il, selected
Subject Group, Date of Exam and his/her Full Signature in the space provided in the OMR Answer Sheet.

S A 4 b TIA T84 A, B, C 992 D wwasl iy fbfee w31 @) aﬁfﬁmwﬁrﬂﬁmsmmmmﬁmwmmﬁm
% | o Saelb owa oMR Taasia #e el st wen o fifre 3w | bfew s o) (e ST 39 AT O JRIE T4
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find
out which answer, according to {uu is correct. Indicate your answer by darkening the afpropriate circle completely in the OMR
Answer Sheet corresponding to the question. For marking answers use black ball point pen only.

Ay oEhe %% | CORRECT | &1 o/%fG : %" | WRONG & | WRONG © | WRONG G¥ | WRONG
Correct method : | @ ® © @ | Wrong method : OO O g@@@ OO0 " R X®)

(4 (T AT 999[] CreuId A4 (W ALEEA %41 baTed A1 |

Once a questign i wered, no correction is permitted. ;

OMR Uz BPooIBEra BT A (RHSETR e SAlere |%ﬁtoﬂ@@mmﬁmeﬁmqmwaﬁw@m

arl [ mﬂwmmmnaammﬂmﬂﬁm @ofg IO | j

OMR Answer Sheet is designed for computer evaluation. If you do not follow the instructions given above and shown in the OMR Answer

Sheet, it may make evaluation by computer difficult. Any resultant loss to the candidate on the above account shall be of the candidate only.
1 1 <1 S (P ST AW % SO ST (A% | ST (T xeet SrarmId) epy offF 0% OMR TE9eiE &Y

(TR @4t EAffeiEhEs (U@ SR wefs #1sa gl crae Fm @wd)

No candidate is allowed to leave the Examination Hall before the final bell. After cnm%letiun of the examination the candidate should hand
?ver !l}:e t]nl.l!. l::nswer Sheet along with the Question Booklet to the Invigilator and he/she will take back his/her portion of Admit Card
rom the Invigilator.
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